EIGEN VALUES & EIGEN VECTORS

Friday, December 10, 2021 2:11 PM

DEFINITION

Let A be a <u>square</u> matrix A-XI is a matrix known as characteristic matrix [A-XI] -> polynomial in X

IA->II=0 -> Characteristic Equation The Roots of characteristic Equation

are known as the characteristic

roots, latent roots or propervalues

ON Eigen Nalues.

 $(-1)^2 \rightarrow \lambda' - 2)$ trace of A of order n 1A1 $A = \left(\begin{array}{cc} 1 & 2 \\ 2 & 1 \end{array}\right)$ $\begin{array}{c} A - \sum \underline{\Gamma} = \begin{pmatrix} I & 2 \\ 2 & 1 \end{pmatrix} - \begin{pmatrix} \lambda & 0 \\ 0 & \lambda \end{pmatrix}$ $= \left(\begin{array}{c} 1 - \lambda \\ 2 \end{array} \right)$ $|A-\lambda I| = \left| \begin{array}{c} |-\lambda 2 \\ 2 \\ |-\lambda | \end{array} \right|$ = (1- m2 - 4 $= \gamma^2 - 2\gamma - 3$ 1A-751 =0 $\lambda^2 - 2\gamma - 3 = 0$

PROPERTIES OF THE CHARACTERISTIC POLYNOMIAL:

- (1) The characteristic polynomial $|A \lambda I|$ of a matrix A is an ordinary polynomial in λ of degree *n* where A is a square matrix of order n
- (2) In characteristic polynomial of A (i) the coefficient of λ^n is $(-1)^n$

(ii) the coefficient of λ^{n-1} is trace of A

(iii) the constant term is |A|

(3) If A is 3×3 matrix then the characteristic equation can be expressed as

 $|A - \lambda I| = (-1)^{3}\lambda^{3} + (-1)^{2}S_{1}\lambda^{2} + (-1)S_{2}\lambda + |A| = 0$ Where $S_{1} = S_{1}$ we of the diagonal elements of A $S_2 =$ Sum of the minors of the diagonal elements of A

chi ean can be written as
$$(3x3 \text{ matrix})$$

 $\lambda^3 - S_1 \lambda^2 + S_2 \lambda - |A| = 0$
 $S_1 = 2raie of A = sum of diagonal elements of A$
 $S_2 = sum of minors of the diagonal elements of A$

PROPERTIES OF THE CHARACTERISTIC ROOTS (EIGEN VALUES):

- (1) If A is a square matrix of order n then the degree of the characteristic equation is *n* and consequently there are exactly n roots (eigenvalues) not necessarily distinct.
- (2) Sum of all eigenvalues = The sum of the diagonal elements of A (i.e. trace of A)
- (3) Product of all eigenvalues of A = |A| = constant term in the polynomial.

CHARACTERISTIC VECTORS OR EIGEN VECTORS:

Let A be a nxn square matrix.
let
$$\lambda$$
 be one of it's Eigen Values
Then there exists a non-zeroVector X such that
 $\begin{bmatrix} AX = \lambda X \end{bmatrix} \rightarrow AX - \lambda X = 0$
 $\begin{bmatrix} A - \lambda I \end{bmatrix} X = 0 \rightarrow Homogeneous$
 $\begin{bmatrix} A - \lambda I \end{bmatrix} X = 0 \rightarrow System of ears$
only trivial \rightarrow rank = n
non-trivial \rightarrow rank (n)
This X is the eigen vector corresponding to λ .

WORKING RULE TO FIND THE EIGEN VECTORS OF A:

SOME SOLVED EXAMPLES:

1. Find the Eigen values and Eigen vectors of the matrix
$$A = \begin{bmatrix} 8 & -8 & -2 \\ 4 & -3 & -2 \\ 3 & -4 & 1 \end{bmatrix}$$

Solution is $|A-\sum S| = 0$
 $\begin{vmatrix} 8-\sum -8 & -2 \\ 4 & -3-\sum -2 \\ 3 & -4 & 1-\sum \end{vmatrix}$
 $(8-\sum) \begin{bmatrix} (-3-\sum)(1-\sum) -8 \end{bmatrix} + 8 \begin{bmatrix} 4(1-\sum) + 6 \end{bmatrix}$
 $(8-\sum) \begin{bmatrix} (-3-\sum)(1-\sum) -8 \end{bmatrix} + 8 \begin{bmatrix} 4(1-\sum) + 6 \end{bmatrix}$
 $(8-\sum) \begin{bmatrix} (-3-\sum)(1-\sum) -8 \end{bmatrix} + 8 \begin{bmatrix} 4(1-\sum) + 6 \end{bmatrix}$
 $(8-\sum) \begin{bmatrix} (-3-\sum)(1-\sum) -8 \end{bmatrix} + 8 \begin{bmatrix} 4(1-\sum) + 6 \end{bmatrix}$
 $(8-\sum) \begin{bmatrix} (-3-\sum)(1-\sum) -8 \end{bmatrix} + 8 \begin{bmatrix} 4(1-\sum) + 6 \end{bmatrix}$
 $(8-\sum) \begin{bmatrix} (-3-\sum)(1-\sum) -8 \end{bmatrix} + 8 \begin{bmatrix} 4(1-\sum) + 6 \end{bmatrix}$
 $(8-\sum) \begin{bmatrix} (-3-\sum)(1-\sum) -8 \end{bmatrix} + 8 \begin{bmatrix} 4(1-\sum) + 6 \end{bmatrix}$
 $(8-\sum) \begin{bmatrix} (-3-\sum)(1-\sum) -8 \end{bmatrix} + 8 \begin{bmatrix} 4(1-\sum) + 6 \end{bmatrix}$
 $(8-\sum) \begin{bmatrix} (-3-\sum)(1-\sum) -8 \end{bmatrix} + 8 \begin{bmatrix} 4(1-\sum) + 6 \end{bmatrix}$
 $(8-\sum) \begin{bmatrix} (-3-\sum)(1-\sum) -8 \end{bmatrix} + 8 \begin{bmatrix} 4(1-\sum) + 6 \end{bmatrix}$
 $(8-\sum) \begin{bmatrix} (-3-2) - 1 \end{bmatrix} + 8 \begin{bmatrix} 4(1-2) - 8 \end{bmatrix} + 8 \begin{bmatrix} 4(1-2) - 8 \end{bmatrix} + 8 \end{bmatrix}$
 $(8-2) \begin{bmatrix} (-3-2) - 1 \end{bmatrix} + 8 \begin{bmatrix} 4(1-2) - 8 \end{bmatrix} + 8 \end{bmatrix}$
 $(8-2) \begin{bmatrix} (-3-2) - 1 \end{bmatrix} + 8 \begin{bmatrix} 4(1-2) - 8 \end{bmatrix} + 8 \end{bmatrix}$
 $(8-2) \begin{bmatrix} (-3-2) - 1 \end{bmatrix} + 8 \begin{bmatrix} 4(1-2) - 8 \end{bmatrix} + 8 \end{bmatrix}$
 $(8-2) \begin{bmatrix} (-3-2) - 1 \end{bmatrix} + 8 \end{bmatrix}$
 $(8-3) = 2 \begin{bmatrix} (-3-2) - 1 \end{bmatrix} + 8 \end{bmatrix}$
 $(8-3) = 2 \begin{bmatrix} (-3-2) - 1 \end{bmatrix} + 8 \end{bmatrix}$
 $(8-3) = 2 \begin{bmatrix} (-3-2) - 1 \end{bmatrix} + 8 \end{bmatrix}$
 $(8-3) = 2 \begin{bmatrix} (-3-2) - 1 \end{bmatrix} + 8 \end{bmatrix}$
 $(8-3) = 2 \begin{bmatrix} (-3-2) - 1 \end{bmatrix} + 8 \end{bmatrix}$
 $(8-3) = 2 \begin{bmatrix} (-3-2) - 1 \end{bmatrix} + 8 \end{bmatrix}$
 $(8-3) = 2 \begin{bmatrix} (-3-2) - 1 \end{bmatrix} + 8 \end{bmatrix}$
 $(8-3) = 2 \begin{bmatrix} (-3-2) - 1 \end{bmatrix} + 8 \end{bmatrix}$
 $(8-3) = 2 \begin{bmatrix} (-3-2) - 1 \end{bmatrix} + 8 \end{bmatrix}$
 $(8-3) = 2 \begin{bmatrix} (-3-2) - 1 \end{bmatrix} + 8 \end{bmatrix}$
 $(8-3) = 2 \begin{bmatrix} (-3-2) - 1 \end{bmatrix} + 8 \end{bmatrix}$
 $(8-3) = 2 \begin{bmatrix} (-3-2) - 1 \end{bmatrix} + 8 \end{bmatrix}$
 $(8-3) = 2 \begin{bmatrix} (-3-2) - 1 \end{bmatrix} + 8 \end{bmatrix}$
 $(8-3) = 2 \begin{bmatrix} (-3-2) - 1 \end{bmatrix} + 8 \end{bmatrix}$
 $(8-3) = 2 \begin{bmatrix} (-3-2) - 1 \end{bmatrix} + 8 \end{bmatrix}$
 $(8-3) = 2 \begin{bmatrix} (-3-2) - 1 \end{bmatrix} + 8 \end{bmatrix}$
 $(8-3) = 2 \begin{bmatrix} (-3-2) - 1 \end{bmatrix} + 8 \end{bmatrix}$
 $(8-3) = 2 \begin{bmatrix} (-3-2) - 1 \end{bmatrix} + 8 \end{bmatrix}$
 $(9-3) = 2 \begin{bmatrix} (-3-2) - 1 \end{bmatrix} + 8 \end{bmatrix}$
 $(9-3) = 2 \begin{bmatrix} (-3-2) - 1 \end{bmatrix} + 8 \end{bmatrix}$
 $(9-3) = 2 \begin{bmatrix} (-3-2) - 1 \end{bmatrix} + 8 \end{bmatrix}$
 $(9-3) = 2 \begin{bmatrix} (-3-2) - 1 \end{bmatrix} + 8 \end{bmatrix}$
 $(9-3) = 2 \begin{bmatrix} (-3-2) - 1 \end{bmatrix} + 8 \end{bmatrix}$
 $(9-3) = 2 \begin{bmatrix} (-3-2) - 1 \end{bmatrix} + 8 \end{bmatrix}$
 $(9-3) = 2 \begin{bmatrix} (-3-2) - 1 \end{bmatrix} + 8 \end{bmatrix}$
 $(9-3) = 2 \begin{bmatrix} (-3-2) - 1 \end{bmatrix} + 8 \end{bmatrix}$
 $(9-3) = 2 \begin{bmatrix} (-3-2) - 1 \end{bmatrix} + 8 \end{bmatrix}$
 $(9-3) = 2 \begin{bmatrix} (-3-2) - 1 \end{bmatrix} + 8 \end{bmatrix}$
 $(9-3) = 2 \begin{bmatrix} (-3-2) - 1 \end{bmatrix} + 8 \end{bmatrix}$
 $(9-3) = 2 \begin{bmatrix} (-3-2) - 1 \end{bmatrix} + 8 \end{bmatrix}$
 $(9-3) = 2 \begin{bmatrix} (-3-2) - 1 \end{bmatrix} + 8 \end{bmatrix}$
 $(9-3) = 2 \begin{bmatrix} (-3-2) - 1 \end{bmatrix} + 8 \end{bmatrix}$
 $(9-3) = 2 \begin{bmatrix} (-3-2) - 1 \end{bmatrix} + 8 \end{bmatrix}$
 $(9-3) = 2 \begin{bmatrix} (-3-2) - 1 \end{bmatrix}$

$$= \begin{vmatrix} -3 & -2 \\ -4 & 1 \end{vmatrix} + \begin{vmatrix} 8 & -2 \\ -4 & 1 \end{vmatrix} + \begin{vmatrix} 8 & -2 \\ -4 & 1 \end{vmatrix} + \begin{vmatrix} 8 & -2 \\ -3 & 1 \end{vmatrix} + \begin{vmatrix} 8 & -8 \\ -3 & 1 \end{vmatrix}$$

52 = -3-8+8+6-24+32

. .

$$\frac{1}{|A|} = 6$$

$$\frac{1}{|A|} = 6 = 0$$
The covariation is $\boxed{|A|^2 - 6x^2 + 11x - 6 = 0}$
The roots are $\boxed{|X| = 1, 2, 3} \rightarrow eigen values$
For $\lambda = 1, [A - \pi s] = 0 = 2 [A - 1] = 0$

$$\begin{bmatrix} -7 - 8 - 2 \\ 4 - 4 - 2 \\ -8 - 2 \\ -4 & -$$

$$\therefore X_{1} = \begin{pmatrix} x_{1} \\ x_{2} \\ x_{3} \end{pmatrix} = \begin{pmatrix} y \\ z \\ z \end{pmatrix}$$
 is eigen verter correspondence $\chi = 1$

For
$$N=2$$
, $[A-N] + -0 \Rightarrow [A-2i] \times = 0$

$$\begin{bmatrix} 6 -8 -2 \\ n -5 -2 \\ 2 -4 -1 \end{bmatrix} \begin{bmatrix} n_1 \\ n_2 \\ n_3 \end{bmatrix} = 0$$
Taking 1st & 2nd now
$$6n_1 - 8n_2 - 2n_3 = 0$$

$$4n_1 - 5n_2 - 2n_3 = 0$$
By crammer's pule
$$\frac{m_1}{1-8-2} = \frac{m_2}{1-8-2} = \frac{m_3}{1}$$

$$\frac{m_1}{6} = -\frac{m_2}{-4} = \frac{m_3}{2}$$

$$\frac{m_1}{6} = -\frac{m_2}{-4} = \frac{m_3}{2}$$

$$\frac{m_1}{6} = \frac{m_2}{-4} = \frac{m_3}{2}$$

$$\frac{m_1}{6} = \frac{m_2}{-4} = \frac{m_3}{2}$$
For $N=3$, $[A-Ni] \times = 0 \Rightarrow [A-3i] \times = 0$

$$\begin{bmatrix} 5 -8 -2 \\ 4 -6 -2 \\ 3 -4 -2 \end{bmatrix} \begin{bmatrix} m_1 \\ m_2 \\ m_3 \end{bmatrix} = 0$$
(nouse 1st & 2nd now

$$5\pi_{1} - 8\pi_{2} - 2\pi_{3} = 0$$

$$4\pi_{1} - 6\pi_{2} - 2\pi_{3} = 0$$
By crummen's Rule
$$\frac{\pi_{1}}{|-8-2|} = -\frac{\pi_{2}}{|5-2|} = \frac{\pi_{3}}{|5-8|}$$

$$\frac{\pi_{1}}{|-6|} = -\frac{\pi_{2}}{-2} = \frac{\pi_{3}}{|1-6|}$$

$$\frac{\pi_{1}}{|4|} = -\frac{\pi_{2}}{-2} = \frac{\pi_{3}}{2}$$

$$\frac{\pi_{1}}{|2|} = \frac{\pi_{2}}{|1-2|} = \frac{\pi_{3}}{|1-6|}$$

$$\frac{\pi_{1}}{|2|} = \frac{\pi_{2}}{|1-2|} = \frac{\pi_{3}}{|1-6|}$$

$$\frac{\pi_{1}}{|2|} = -\frac{\pi_{2}}{|1-2|} = \frac{\pi_{3}}{|1-6|}$$

$$\frac{\pi_{1}}{|2|} = -\frac{\pi_{2}}{|1-6|}$$

2. Find the Eigen values and Eigen vectors of the matrix. Also verify that the Eigen vectors are linearly

independent
$$A = \begin{bmatrix} 2 & -1 & 1 \\ 1 & 2 & -1 \\ 1 & -1 & 2 \end{bmatrix}$$

Solv :- The characteristic Equation is $\begin{vmatrix} 2-\gamma & -1 & | \\ 1 & 2-\gamma & -1 \\ | & -1 & 2-\gamma \end{vmatrix} = 0$

$$\lambda^{3} - 5_{1}\lambda^{2} + 5_{2}\lambda - |A| = 0$$

$$\lambda^{2} - 6\lambda^{2} + 11\lambda - 6 = 0$$

$$Eigen \quad \text{Values ove } \lambda = 1, 2, 3$$
For $\lambda = 1, [A - \lambda I] \times = 0 \implies [A - J] \times = 0$

$$\begin{bmatrix} 1 - 1 & 1 \\ 1 & 1 - 1 \\ 1 & 1 - 1 \end{bmatrix} \begin{bmatrix} n_{1} \\ n_{2} \\ n_{3} \end{bmatrix} = 0$$

$$\begin{bmatrix} 1 & 1 & -1 \\ 1 & -1 & 1 \end{bmatrix} \begin{bmatrix} m_2 \\ m_3 \end{bmatrix} = 0$$

$$B_1 \xrightarrow{R_2 - R_1} \begin{bmatrix} 1 & -1 & 1 \\ 0 & 2 & -2 \\ 0 & 0 & 0 \end{bmatrix} \begin{bmatrix} n_1 \\ n_2 \\ n_3 \end{bmatrix} = 0$$

$$\pi_1 - \pi_2 + \pi_3 = 0$$

$$2\pi_2 - 2\pi_3 = 0 \Rightarrow \pi_2 = \pi_3$$

$$Iet = \pi_3 = t \Rightarrow \pi_2 = t$$

$$\pi_1 - t + t = 0 \Rightarrow \boxed{\pi_1 = 0}$$

$$\therefore \quad \chi_1 = \begin{bmatrix} 0 \\ t \\ t \end{bmatrix} = \begin{bmatrix} 0 \\ 1 \\ 1 \end{bmatrix} \text{ is an eigen vector for } \chi_1 = 1.$$

$$\begin{bmatrix} -\sqrt{N-2} & \begin{bmatrix} A-\sqrt{2} \end{bmatrix} & X=0 \\ 0 & -1 & \begin{bmatrix} M_1 \\ m_2 \\ 1 & -1 & 0 \end{bmatrix} \begin{bmatrix} M_1 \\ m_2 \\ m_3 \end{bmatrix} = 0 \implies \begin{bmatrix} -M_2 & +M_3=0 \\ M_1 & -M_3=0 \\ M_1 & -M_3=0 \\ M_1 & -M_2 & = 0 \end{bmatrix}$$

$$\therefore \chi_2 = \begin{bmatrix} 1 \\ 1 \end{bmatrix}$$
 is an eigen vector corresponding
to $\chi = 2$

 $\begin{array}{c|c} R_{3}-R_{2} \\ \hline \\ \end{array} \end{array} \begin{bmatrix} -1 & -1 & 1 \\ 0 & -2 & 0 \\ 0 & 0 & 0 \end{bmatrix} \begin{bmatrix} \lambda_{1} \\ \eta_{2} \\ \eta_{3} \end{bmatrix} = 0$ $-\pi 1 + \pi_3 = 0 = 2 [\pi 1 = \pi_3]$ let 71=3=] (-73-) is an eigenvector corresponding to $\gamma=3$. Now to check $\chi_1 = \begin{bmatrix} 0 \\ 1 \end{bmatrix}, \chi_2 = \begin{bmatrix} 1 \\ 2 \end{bmatrix}, \chi_3 = \begin{bmatrix} 0 \\ 1 \end{bmatrix}$ one Linearly Independent. 1et K, X1 + K2 ×2 + K3 ×3 =0 $K_1 \begin{bmatrix} 0\\ 1\\ 1 \end{bmatrix} + K_2 \begin{bmatrix} 1\\ 1\\ 1 \end{bmatrix} + K_3 \begin{bmatrix} 1\\ 1\\ 1\\ 1 \end{bmatrix} = 0$ $\begin{array}{c} k_{1}+k_{2} = 0 \implies \left[\begin{array}{c} 0 & 1 & 1 \\ 1 & 0 & 0 \\ 1 & 1 & 0$ $\begin{array}{c|c} \begin{array}{c} R_{1} \leftrightarrow K_{2} \\ \hline \\ \end{array} \end{array} \begin{array}{c} 1 \\ 0 \\ 1 \\ 1 \\ \end{array} \begin{array}{c} 1 \\ \end{array} \end{array} \begin{array}{c} 0 \\ K_{2} \\ \hline \\ \end{array} \begin{array}{c} K_{3} \\ \end{array} \end{array} = 0$ $\frac{R_3-R_1}{N_1} \begin{bmatrix} 1 & 1 & 0 \\ 0 & 1 & 1 \end{bmatrix} \begin{bmatrix} K_1 \\ K_2 \end{bmatrix} = \begin{bmatrix} K_1+K_2 & Z & 0 \\ K_2+K_3 & Z & 0 \end{bmatrix}$

3. Determine the Eigen values and the associated Eigen vectors for the matrix
$$\begin{bmatrix} 2 & 2 & 1 \\ 1 & 3 & 1 \\ 1 & 2 & 2 \end{bmatrix}$$

Some interval is the characterian spectra is the matrix $\begin{bmatrix} 2 & 2 & 1 \\ 1 & 3 & 1 \\ 1 & 2 & 2 \end{bmatrix}$
 $\begin{bmatrix} 2 & 2 & 1 \\ 1 & 2 & 2 \end{bmatrix}$
 $\begin{bmatrix} 3 & -3 & 1 \\ 1 & 3 & -3 & 1 \\ 1 & 2 & 2 & -3 \end{bmatrix} = 0$

$$\frac{3}{3} - \frac{5}{3}\frac{2}{7} + \frac{5}{27} - \frac{1}{|A|=0}$$

$$\frac{3}{7} - \frac{3}{2}\frac{2}{7}\frac{1}{11}x - \frac{5}{5} = 0$$

$$\frac{3}{7} - \frac{3}{7}\frac{2}{7}\frac{1}{11}x - \frac{5}{5} = 0$$

$$\frac{3}{7} - \frac{3}{7}\frac{2}{7}\frac{1}{7}\frac{1}{7}x - \frac{5}{5} = 0$$

$$\frac{3}{7} - \frac{5}{7}\frac{1}{7}\frac{1}{7}\frac{1}{7}x - \frac{5}{7}\frac{1}{7}\frac{1}{7}x = 0$$

For
$$\gamma = 3$$
, $L(1 + 1)$
 $\begin{pmatrix} -3 & 2 \\ 1 & -2 \\ 1 & 2 & -3 \end{pmatrix} = 0$
 $\begin{pmatrix} 1 & 2 & -3 \\ 2 & -3 \end{pmatrix} = \frac{33}{33} = 0$
 $\chi = 2$

By
$$-3\pi i + 2\pi 2 + \pi 3 = 0$$

 $\pi i - 2\pi 2 + \pi 3 = 0$

$$\frac{\pi}{12} = \frac{\pi}{12} = \frac{\pi}{12}$$

$$\frac{m}{4} = -\frac{m}{-4} + \frac{m}{4}$$

$$\frac{m}{4} = -\frac{m}{-4} + \frac{m}{4}$$

$$\frac{m}{-1} = -\frac{m}{-1} = -\frac{m}{-1}$$

$$\frac{m}{-1} = -\frac{m}{-1} + \frac{m}{-1} + \frac{m}{-1} = -\frac{m}{-1} + \frac{m}{-1} + \frac{m}{-1} + \frac{m}{-1} = 0$$

$$\begin{bmatrix} 1 & 2 & 1 \\ 1 & 2 & 1 \end{bmatrix} = 0$$

$$\begin{bmatrix} 1 & 2 & 1 \\ m_{1} \\ 1 & 2 & 1 \end{bmatrix} = 0$$

$$\begin{bmatrix} 1 & 2 & 1 \\ m_{2} \\ 1 & 2 & 1 \end{bmatrix} = 0$$

$$\begin{bmatrix} 1 & 2 & 1 \\ m_{2} \\ 1 & 2 & 1 \end{bmatrix} = 0$$

$$\begin{bmatrix} 1 & 2 & 1 \\ m_{2} \\ m_{3} \end{bmatrix} = 0$$

$$\begin{bmatrix} 1 & 2 & 1 \\ m_{2} \\ m_{3} \end{bmatrix} = 0$$

$$\begin{bmatrix} 1 & 2 & 1 \\ m_{2} \\ m_{3} \end{bmatrix} = 0$$

$$\begin{bmatrix} 1 & 2 & 1 \\ m_{2} \\ m_{3} \end{bmatrix} = 0$$

$$\begin{bmatrix} 1 & 2 & 1 \\ m_{2} \\ m_{3} \end{bmatrix} = 0$$

$$\begin{bmatrix} 1 & 2 & 1 \\ m_{2} \\ m_{3} \end{bmatrix} = 0$$

$$\begin{bmatrix} 1 & 2 & 1 \\ m_{2} \\ m_{3} \end{bmatrix} = 0$$

$$\begin{bmatrix} 1 & 2 & 1 \\ m_{3} \\ m_{3} \end{bmatrix} = 0$$

$$\begin{bmatrix} 1 & 2 & 1 \\ m_{3} \\ m_{3} \end{bmatrix} = 0$$

$$\begin{bmatrix} 1 & 2 & 1 \\ m_{3} \\ m_{3} \end{bmatrix} = 0$$

$$\begin{bmatrix} 1 & 2 & 1 \\ m_{3} \\ m_{3} \end{bmatrix} = 0$$

$$\begin{bmatrix} 1 & 2 & 1 \\ m_{3} \\ m_{3} \end{bmatrix} = 0$$

$$\begin{bmatrix} 1 & 2 & 1 \\ m_{3} \\ m_{3} \end{bmatrix} = 0$$

$$\begin{bmatrix} 1 & 2 & 1 \\ m_{3} \\ m_{3} \end{bmatrix} = 0$$

$$\begin{bmatrix} 1 & 2 & 1 \\ m_{3} \\ m_{3} \end{bmatrix} = 0$$

$$\begin{bmatrix} 1 & 2 & 1 \\ m_{3} \\ m_{3} \end{bmatrix} = 0$$

$$\begin{bmatrix} 1 & 2 & 1 \\ m_{3} \\ m_{3} \end{bmatrix} = 0$$

$$\begin{bmatrix} 1 & 2 & 1 \\ m_{3} \\ m_{3} \end{bmatrix} = 0$$

$$\begin{bmatrix} 1 & 2 & 1 \\ m_{3} \\ m_{3} \end{bmatrix} = 0$$

$$\begin{bmatrix} 1 & 2 & 1 \\ m_{3} \\ m_{3} \end{bmatrix} = 0$$

$$\begin{bmatrix} 1 & 2 & 1 \\ m_{3} \\ m_{3} \end{bmatrix} = 0$$

$$\begin{bmatrix} 1 & 2 & 1 \\ m_{3} \\ m_{3} \end{bmatrix} = 0$$

$$\begin{bmatrix} 1 & 2 & 1 \\ m_{3} \\ m_{3} \end{bmatrix} = 0$$

$$\begin{bmatrix} 1 & 2 & 1 \\ m_{3} \\ m_{3} \end{bmatrix} = 0$$

$$\begin{bmatrix} 1 & 2 & 1 \\ m_{3} \\ m_{3} \end{bmatrix} = 0$$

$$\begin{bmatrix} 1 & 2 & 1 \\ m_{3} \\ m_{3} \end{bmatrix} = 0$$

$$\begin{bmatrix} 1 & 2 & 1 \\ m_{3} \\ m_{3} \end{bmatrix} = 0$$

$$\begin{bmatrix} 1 & 2 & 1 \\ m_{3} \\ m_{3} \end{bmatrix} = 0$$

$$\begin{bmatrix} 1 & 2 & 1 \\ m_{3} \\ m_{3} \end{bmatrix} = 0$$

$$\begin{bmatrix} 1 & 2 & 1 \\ m_{3} \\ m_{3} \end{bmatrix} = 0$$

$$\begin{bmatrix} 1 & 2 & 1 \\ m_{3} \\ m_{3} \end{bmatrix} = 0$$

$$\begin{bmatrix} 1 & 2 & 1 \\ m_{3} \\ m_{3} \end{bmatrix} = 0$$

$$\begin{bmatrix} 1 & 2 & 1 \\ m_{3} \\ m_{3} \end{bmatrix} = 0$$

$$\begin{bmatrix} 1 & 2 & 1 \\ m_{3} \\ m_{3} \end{bmatrix} = 0$$

$$\begin{bmatrix} 1 & 2 & 1 \\ m_{3} \\ m_{3} \end{bmatrix} = 0$$

$$\begin{bmatrix} 1 & 2 & 1 \\ m_{3} \\ m_{3} \end{bmatrix} = 0$$

$$\begin{bmatrix} 1 & 2 & 1 \\ m_{3} \\ m_{3} \end{bmatrix} = 0$$

$$\begin{bmatrix} 1 & 2 & 1 \\ m_{3} \\ m_{3} \end{bmatrix} = 0$$

$$\begin{bmatrix} 1 & 2 & 1 \\ m_{3} \\ m_{3} \end{bmatrix} = 0$$

$$\begin{bmatrix} 1 & 2 & 1 \\ m_{3} \\ m_{3} \end{bmatrix} = 0$$

$$\begin{bmatrix} 1 & 2 & 1 \\ m_{3} \\ m_{3} \end{bmatrix} = 0$$

$$\begin{bmatrix} 1 & 2 & 1 \\ m_{3} \\ m_{3} \end{bmatrix} = 0$$

$$\begin{bmatrix} 1 & 2 & 1 \\ m_{3} \\ m_{3} \end{bmatrix} = 0$$

$$\begin{bmatrix} 1 & 2 & 1 \\ m_{3} \\ m_{3} \end{bmatrix} = 0$$

$$\begin{bmatrix} 1 & 2 & 1 \\ m_{3} \\ m_{3} \end{bmatrix} = 0$$

$$\begin{bmatrix} 1 & 2 & 1 \\ m_{3} \\ m_{3} \end{bmatrix} = 0$$

$$\begin{bmatrix} 1 & 2 & 1 \\ m_{3} \\ m_{3} \end{bmatrix} = 0$$

$$\begin{bmatrix} 1 & 2$$

12/15/2021 2:24 PM

4. Find the Eigen values and Eigen vectors for
$$A = \begin{bmatrix} 4 & 6 & 6 \\ 1 & 3 & 2 \\ -1 & -5 & -2 \end{bmatrix}$$

Solution: The character stric is given is $\begin{vmatrix} h - \chi & 6 & 6 \\ 1 & 3 - \chi & 2 \end{vmatrix} = 0$
 $\begin{vmatrix} -1 & -5 & -2 - \chi \end{vmatrix}$

$$\begin{cases} \lambda - 5(\lambda^{2} + 5)(\lambda - |A| = 0 \\ \lambda^{2} - 5\lambda^{2} + 8\lambda - 4 = 0 \end{cases}$$
Sum of eigen values
$$= \lambda rate$$

$$= 5$$
For $\lambda = 1, [A - \lambda I] \times = 0 \Rightarrow [A - I] \times = 0$

$$\begin{cases} 3 & 6 & 6 \\ + & 2 & 2 \\ -1 & -5 & -3 \end{bmatrix} \begin{bmatrix} \pi_{1} \\ \pi_{2} \\ \pi_{3} \end{bmatrix} = 0 \Rightarrow \begin{bmatrix} \pi_{1} + 2\pi_{2} + 2\pi_{3} = 0 \\ \pi_{1} + 5\pi_{2} + 3\pi_{3} = 0 \end{bmatrix}$$

$$= \frac{\pi_{1}}{2} = \frac{\pi_{2}}{1} = \frac{\pi_{3}}{3}$$

$$= \frac{\pi_{1}}{2} = -\frac{\pi_{2}}{1} = \frac{\pi_{3}}{3}$$

$$= \frac{\pi_{1}}{-1} = -\frac{\pi_{2}}{-1} = \frac{\pi_{3}}{3}$$

$$= \frac{\pi_{1}}{-1} = -\frac{\pi_{2}}{-1} = \frac{\pi_{3}}{-1} = \frac{\pi_{1}}{-1} = \frac{\pi_{2}}{-1} = \frac{\pi_{3}}{-1} = \frac{\pi_{1}}{-1} = \frac{\pi_{2}}{-1} = \frac{\pi_{2}}{-1} = \frac{\pi_{1}}{-1} = \frac{\pi_{2}}{-1} = \frac{\pi_{2}}{-1} = \frac{\pi_{1}}{-1} = \frac{\pi_{2}}{-1} = \frac{\pi_{1}}{-1} = \frac{\pi_{2}}{-1} = \frac{\pi_{1}}{-1} = \frac{\pi_{2}}{-1} = \frac{\pi_{1}$$

$$\begin{bmatrix} 0 & -2 & -1 \\ 0 & 0 & 0 \end{bmatrix} \begin{bmatrix} n_2 \\ n_3 \end{bmatrix} = 0 \quad \therefore \text{ Not of power meters} = 1.$$

$$\therefore \text{ Not of } \text{ Liftherefore examples of the examples of$$

5. Find the Eigen values and Eigen vectors of the matrix
$$A = \begin{bmatrix} 2 & 2 & 1 \\ 0 & 2 & 2 \\ 0 & 0 & 2 \end{bmatrix}$$

Solb, $(h \cdot eqh) = \begin{bmatrix} 2 - \lambda & 1 & 0 \\ 0 & 2 - \lambda & 1 \\ 0 & 0 & 2 - \lambda \end{bmatrix} = 0$
 $(2 - \lambda)^3 = 0$

$$\begin{pmatrix} 0 & 1 & 0 \\ 0 & 0 & 1 \\ 0 & 0 & 0 \end{pmatrix} \begin{bmatrix} n_1 \\ n_2 \\ n_3 \end{bmatrix} = 0$$
 \Rightarrow no of parameters = 3-2=)
 $\Rightarrow 1$ Eigen vector:
 $\Rightarrow 2 = 0 \\ 3 = 0 \\ 1 \in n_1 = t$
 $x = \begin{pmatrix} t \\ 0 \\ - \end{pmatrix} = \begin{pmatrix} 0 \\ 0 \\ - \end{pmatrix}$ is an eigen vector for $\lambda = 2$.

$$|\lambda_2| = \int (\frac{1}{2})^2 t (-\frac{1}{2})^2 = 1$$

: Eigen values ave of unit modulus.